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1. Too e Ao Set o - 1x8=8

Answer the following as directed :

(a) SRS St I e B e 2
What do you mean by opportunity cost
in economics?

() SR =¥ R ween o1 e3Py forn |

Write any one feature of economic
model.
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(c)

(d)

te)
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(2)

TRorE T TeAMAIRR TFEd WER 9
14 SrEy 90|

State one distinction between consumer
and producer surplus.

odf-afSafrores  ofdms  MdE@m
AR 9B TIF@w 56 o

Mention one short-term condition which
gives long-term direction to the
competitive firms.

s Ao R Wl g afdEm
TR 9o (ST 2
Indifference curve analysis is based on
which of the following marginal rates of
substitution?
fi) FEREIH
Increasing
(i) P
Decreasing
(i) &3
Constant
fiv) 8 GB1S 7y
None of the above

(1R et il Bevea)

(Choose the correct answer)
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(3)

O3 ARSI BT 313 AR 7 a5 1 AT IR

A firm’s willingness to pay for a location
depends on

(i) T8 LIW I”S SRS
the cost of running business
(i) ARSHAITH TSR SIS
the profit of the firm
(iij) B PR e*7©
the sale proceeds of the firm
(iv) 87T OIS T/
None of the above :
(i Taaft TR Sferean)
(Choose the correct answer)
W AR @I SR

Availability of skilled labour is an
example of

(i) T SePIRY Rreafie
economies of scale

(i) A PR Sfswier
diseconomies of scale

(i) T R RegRe we wRewfier
TR

both economies and diseconomies
of scale

(iv) SRR 9IS Ty
None of the above

(AR Taafl Ak Svtean)

(Choose the correct answer)
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FIfR AR RTERT T (T TS 72F 2

What is not true for the shift in the
demand curve?

() TR 7R AReEq

The price of the good changes
(ii) (TR AR RIS

Change in the income of the buyer
(iti) BorerE FoT *fRadw

Taste of the consumer changes
(iv) TS TR 7T Ras

The price of the related goods

changes
(7o et R BRiea)

(Choose the correct answer)

2, [ R @A wiReR 5 G B (et 150 *rea

foswe) :

4x4=16

Write short notes on any four of the following
(within 150 words each) :

(o) TR TRIR WF GLAT ey

Property rights and economic efficiency

(b) IEE TN TETS SR WE oy
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Market versus individual demand and
supply

{ Continued )
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(c) CS1% TF HPIN &Y A=
Choice between leisure and
consumption

(d) STl IR TR W SIS

Monopoly and antitrust policy

o) T IR TR IW
Taxes and the cost of taxation

o fam enPiyRa e o (aifReBt 500 *rm feewe)
Answer the following questions (within 500 words
each) :

3. (¢) IBIM IR Rora = Rida sz
IR 90 | IR wRerR B deW S
TeEy 9 3+7+2=12
State and explain the different types of

microeconomics analysis. Mention the
two important goals of microeconomics.

w7/ Or
p) SRER RereR ors wfve Rt wdtafes
S BCEY W HEn 640 | 3+9=12

State and discuss the three economic
problems associated with the subject
matter of economics.

20P/246 { Turm Over)



(6)

4. (o) ISR T W JfFre TR IER N
forgr 1 b1 TR TR IR @RT wew AT
1 YA A 91 1 : 2+3+3+3=11

Distinguish between demand by an
individual and market demand. Explain
the effect of the following on the market
demand for a commodity :

(i) TiFC TR 1 ARG
Change in the price of the related
goods
(i) GFOR WI[ ~fRTET
Change in the number of buyers
(iii) =R R34

Distribution of income
5{/ Or

(b) M @R SRR AR WF M QI
FABHE T N4 o | ©o) 4Pz Baw
AZHS [0 ¢ 2+3+3+3=11
Distinguish between the movement
along the demand curve and shift in the
demand curve. Explain the following
concepts with the help of diagrams :

(i) 4RI GG
Normal goods
(i) W2 @
Inferior goods
(iif) Af>FR T
Substitute goods
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5. (a)
b}
6. (a)
)
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(7)

(i) Toel SF AN, (i) TR GOl WE

SRI (EIR TS “IRAFR e @l T
R @E S=ES AW 40 6+5=11

Explain, with the help of indifference
curves, the household choice between
(i) consumption and savings, (i) present
consumption and future consumption.

¥t/ Or

e @R (REPR P R v 11

Explain the properties of indifference
curves with the help of diagrams.

T RO S e IR @
BRSBTS W oA TGS 4Rl o1
sl 3R <R, e w41 |

Explain how the concepts of consumer’s
surplus and producer’s surplus can be
used to derive the conditions of market
efficiency.

S/ Or

T R IS @FAe Afemiieon ter =@
uE ARAPOR Geie ™R eRTw T
S R I, foqa 7w 0 41 |
Explain diagrammatically how competi-
tion takes place in a free market and
leads to market equilibrium.

11

11
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7. (@ TR R yEWOA viE fm R TwRe
Al i orafeeht foas sz Imam 4 |
) 2+9=11
Define the term 91and market’. Explain
rent determination in land market with
the help of a diagram.

9{r/ Or

(b) f-ACAPEET TWRE ST W T
e e RfRg T =@, o e
10 11
Explain, with the help of a diagram,
equilibrium price and output
determination of firm wunder perfect
competition.

* %k ok
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